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.Darecmns (Q.Nos. 11- 13) Mark the correct preposmon, out of the four cholces qven-'_*f"_ i

-'below, to be filled in. tile gapsi-

11.

13,

16,

- _‘-(A) to get defeated - '_; (B) to defeat one snvals ::
(C) 'to make anaudlence x:espond w1th oreat enthu51asm (D) to mjure others - SRR

- Murthy met..... an acc:ldent yesterday

U (A) with (B)m “(Cyat = (D) upon e
- Salil. shouidtrytobnnc&taround ....... hlSVlBWS e T e
Co(AYwith (Bt (O about ('D) upon T

Do you. know that this road leads Delhl? E

| C(A)in s (B) fom (C)to (D)upon B
.Directions: (Q.Nos. 14-17):- Mark the eapressmn, out of the four: chmces "IVEII below, 5

that best conveys the. meaning of the followmﬂr ldloms and phrases =
14 T R

“to.carry weighti-=

___(A) to carry burden - (B) to. be burdensome sk

(O tobe ineffective . _' e @) o be effectve S
tobitethedust- i LU
- "(A) to be 'defeated ' (B) to d1e _.:'_:'_j(C) to delay (D) to wa.ste energ y R
_ todrawmoneshoms : '_ R AR

'.'_(A) to praise oneself R (B) become less assertlve

(C) to show one’s aggresszveness (D) to. hurt oneself
to bring the house down _' S '



S :Dnrectlons ( O Nos 18 20) = Mark the underhned part out of four optlons, that has an

'-f--error. S

: 18 Manv aman have done so. o
A B C D '. e i
'i_':'19'. " Nolessthan - fifty smdents- were - 1n1ured in the stamnede -

20, Shantanuandl - discussed about the matter  yesterday

SR A)Peepal B) Shisham o _r' c) Ashoka o D) Klkkaf, S
B 220 : -_Accordmg 1o'census 2011 which: of the followmg statements is true Sl

oAy % of urban populatton to' total 37 49, density of populatton 550-/sq km sex
LU ratio 893

g B) -' % of urban populatlon to total 43 Sl denszty of populatmn 550-/sq km sex
Lol Tatio 893 R _
S C) Y% of urban p0pulat10n to total .>7 49 den51ty of popuiatlon 5:5-/sq km Sex
U ratio 893 G
Dy _-_f.% of urban pOpuIatlon to total 37 49 dens1ty of populatxon 535—/sq km sex
| 23:.‘--"-_':'.' _'_Banda Bahadur renounced the world and acquued the name- i e S
o ’A) Lachman Das "“B) Bhai Mat1 Das C) Madho Das o _D) Bhai Sati Das

ERTOR 24, 3__-'Match the Women § ornaments and where worn in Punjab

) 1 Chaunk S Forehead
o 2Barwata 0 b Heéad:
53 Phuli _' e Wnst" SO e
4 Ball'l o ;_: . _"d Nose L o R TR

A) Ia ?.b 3c 4d B) lb 2a 3c 4d C) lb 2c 3d 4a D) Ib 2a Jd 40 '

250 Who' was the Chlef Minister PunJab when last Pre31dent Rule was 1mposed in Punjab -
o i June, 1987 e

2 A) Surjit Slnorh Bamala B) Beant SmOh

- .2C) Parkash Stncrh Badal = D) Darbara Smch

.-.';'26'._- '_.':"ISIS ferrorist cutfit i is headed by S N :
o~ A)yChhota Shakil ERaEr B) Mustfa C) Ba:,hdadl D) Laden :

o : : 27 : {Jap:mese c1ty Kyoto has sxgned an agreernent for development of Varana31 What s

- the nick name of Kyoto : _ -
- AY City of rivers B) c1ty of thousand shrme ) C) Shmkansen = D) None of these _

- 28, “Iudia’ Wins Freedom s the autob1ography of

© - “A)Jawaharlal Nehru - crdn B) Mahatma Ganth
e _:'C) Maulana Abul Kalam Arad ol | D) none of these
. A)Switzerland - B) India - C) Germany D) Albama .j -

2 - 30, - Study of earthquakes is known as”

. . A)Ecology - B) Se1smolooy C) Numlsmancs D) None of these o

oy -.'_-thh of the' followxnc instruments is used 10 measure the pressure of ¢ gases S

S LAY Barometer B) Manometer '_ o C) Arumeter it D) None of these .
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40.

41,

44,

“India’s ﬁrst atonnc power stat1on was set up at

- A) Surat (Gujarat) - B B) Tarapur (Maharashtra)

Q) Trombay (Maharashtra) i D) Sholapu:r (Maharashtra)
The decimal currency system. started in Ind1a from : .

- A) April, 1957 - B) January 1955 . C) Apnl 1951 D) Apnl 1955

*“The Pilotless taroet an‘craft fabncated at the Aeronauttcal development estabhshment '_ e
- Bangalore ‘is - ' -

-~ A) Cheetah. ) Nl_s_hant C) Lakshya f_ D) Ar_]un
. 'Which sea is referred to in our Nat1onal Anthem'? B
_A)BayofBengal -~ - " . B)Indian ocean’ b
Q) A_rabl_a_n S_ea____l_ :'5_' = D) no sea. 1s ment1oned n 1t
- (A) Petrol Engines - Z_ - '-; S Sl _"._.j_(B) D1ese1 Encrmes
(O Both (A). and (B) R i (D) None of the above
o _:leferentlal gear used in automobzies has _ ' S TR
(A Spur Gear . - (B) Bevel Gear '--'-_(C) Worm Gear (D) Heheal Gear R

. An automobile engine is usuaily mounted at: - & '
- (A) Two. Points . (B) Three Pomts (C) Four Pomts (D) F1ve Pomts

~Which of the foliowmg types of batterles are usuaily used in Indxa ‘?

“"(A) Lead Acid Battery -(B) Dry Battery -
(C) Ntckel Cadrmum Battery (D) Nlckei Iron Battery
Lenz's law R

7 (A) Obeys’ Newton’s thxrd law of motmn (B) Obeys Newton 5. second law of motzon_'. S
{6 Obeys Newton s first law of motlon (D) None of the above. _' : o o

o Welding is a ! Process ofj J01n1n0 two metal pieces by the apphcation of o
- :'__(A) Heat - (B) Pressure (C) Both. (A) and (B) (D) None of the above

42 S'Ohm‘s law states that the eurrent throucrh 2 conductor between two pomts 1s d1rect1y.:_--
3-:-prop0rt10na1 to: ; P s : . G
- (A) Potential difference across the two pomts S
~(B) Temperature difference across the two pomts _j i
(C) Pressure difference across the two pomts SOk

- (D) Volume difference across the two po1nts

43, -:'_’__-:Full form for LED hchts used in vehlcles is::

- (A) Light-emitting diode .~ (B) Low—ermttmv dlode

- (C) Limit-emitting d10de (D) Laser—em1tt1ng dlode P
':_"'rW}uch of the foliowmo ac1ds is used n automobiie battenes
- (A) Hydrochloric Acid - '_ 7 ..-(B) Nitrie Acid : _'
-(C) Sulphuric Ac1d : Dy None of the above SRR
.. Inacar battery when electrodes are placed in an eiectrolytc and a voitafre 1s apphed o
. theelectrolyte will - B . L G
~(A) Conduct elec_tncn_v - (B) Get heated up S
{C) Get cooled S i (D) None ofthe above L

~(A) Charge the battery (B) To.power the electncal system when 1ts enome IsTunning -

Altemators are used in modern automobdes to

'-'--.3'_____((3) Both (A) and (B) - (D)Nome of theabove
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o fCar engines are prov1ded with '’ Sl e EEERE :
(A) Flat Beits f (B) V Belts (C) ROpeS (D) None ofthe abOVB

_-_-In an mtemal combustlon engme the starteris used for y
- (A) Starting the Engine” e - (B) Retarding the Encme
(O St0pp1ng the Encrme . (D) None of the above

-Machine is a device by means of Whlch i
- (A)Available energy can be converted mto useful work

" (B) Loads are transmitted o

. ._.-52'.'-_

© oo (A)Common rail d1reet fuel mJectlon (B) Common ret:ardmnr dxrect fuel 1n3ect10n i
(o) Common restarting direct fuel 1nject1on (D) Common rail direct fire injection
'-_'.'MPFIstandsfor L T L S i
. (A) Multipoint fuel mjeetlon system (B) Multxpower fuel m_)ectxon system
R (0] Multtpressure fuel injection'system (D)’ Multlplate fuel m}ectlon system

i g _'ji 56 ABS is an automobﬂe safety system The full form of ABS i 1s

- (A) Anti-lock braking system . " (B) Anti-leak brakmrr system S

(C)Both (A) and (B)

.. (Dyonly veloczty is transmitted -

- 50. _'%f.A vehicle horn i is a sound-makmcr dewce used to warn others of the approach of the

- vehicle or of its’ presence "The unit in; thch sound is measured is :

" (A) Decibel _®)Newton’s - (Q)Pascal's . (D) Joules
: The ﬁrmﬂ order n a 4—Stroke Internai Combustlon encme 1s frri '
*-':.Z(A)l 2- -4 (B) 1—.)-4- = (C)4 3—2 oo (D) All ofthe above
AN 1gn1t1on system is a system for 1gmtmcr a fuel a1r m1xture Iomnon systems are
“ o well known in the field of - S >
v (A) Internal combustion enomes FETRE .:_(B) Rocket engmes iRt .
- 2(C) Oil-firéd and gas-fired boﬂers -3_.3'._(D) All of the above i
_ Anmrbacusedmvehmlesma : L A IR
~ o (A) Vehicle safety device ) EfﬁCtency 1mprov1n0 devzce 3
L ©) Velo<:1ty mcreasmg devtce S ----(D) All of the above . L :
'CRDI stands for e R

o - (C) Anti-lift braking system - -_iﬁ_ S (DY A.ntl Eead brakmcr system R |

s

0

-~ How many strokes are there in'a dlesel car" R
T (A)Four - (B) Six - (C) Two . (D) Ewht
R f
_ . contents of something i§ known' as’

An instrurment that Theasures and g1ves a wsual dlsplay of the amount level or

(A) Gauge - (B) Flywheel (C) Govemor B _(D) Cam . e
. CPU maoomputer stends for :_ e T o o _:'
" (A) Central Processing Unit =~ (B) Contmuous PoWer Unit ST

S = © Contmuously Playmcr Umt (D) Central Playing Unit L
60.  The uses of microprocessor ini modern automobile (cars and trucks) are R
- (A) Fuel pressure/volume control systems (B) Ignition timing control systems S

B (C) Emtssmns control systems (D) AH of the above
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(PUNJABI VERSION)
(If any confus:on please consult the Enchsh versmn)
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7. "__'-_-'stmwmmfeemfmﬁeﬁwﬁmﬁa
wTert o @) e ©3 (D)Frmf’r
8. '-._'mewfeeﬁw@~wmw€ro
o (A)HE C(B)yt (C)ema’r (D)UW"&'T
9. .'-.Wﬁﬁrmﬁfemefawaumareaw |
C@WE (B)zm S (C)G’E (D)w
10. _'-'-_;Wﬁfawsr@ea' i S

'_‘_-_:;(A)aesfs"fs?? (B)aaw:—rfaw (C)aamr&;g (mwm

Directions : (Q.Nos. 11- 13) Mark the correct preposmon, out of the four chmces 01ven
below, to be filled in the gaps:- o i . 2

11, "Murthy met ..an acc1dent yesterday e
(A) with - (B) in(Qat L (D) upon
12. . Salil: should try to brmo Sita round hzs wews P
(A) with = B)to  (C) about R (D) upon
13. ' Do you l\now that thls road leads - Delhl” L
o (A)in o (B) from (©t0 (D) upon SRS
Dlrecnons. (Q Nos 14-17):- Mark the expressnon, out of the four chou:es olven below,
that best conveys the meaning of the followm-ﬂr ldloms and phrases. : :
14, to carry weight:- = = : :
S Wt carry burden . g (B) 1o be burdensome L
(O tobe ineffective - (D) to be effecuve E S
tobitethedust- T Cheleinhe
-~ {(A)to. be defeated (B) to d1e (C) to delay (D) to waste energy 5
16. -'-.':"-todrawmone shoms =~ : Co
(A to pra15e oneself S (B) become Iess assertwe
- (C) to show one’s. aggresszveness (D) to hurt oneself
17.  to bring the house down :

- '-_(A) to get defeated [ : S (B) to defeat one’s nvals.ﬁ_"?.'- R

(C) to. make an audlence respond w1th oreat enthusmsm B _(_D)_.to injure others

P/ 3 2 Page 6 of12



o ._Eﬁ_'Dlrectmns (O Nos 18-20) - Mark the underhned part out of four opt;ons, that has an

'_-'_'_'_--error _ : e
cs 18 Manv aman have done-so..-_ R

19, Nolessthan = = fiftvstudents  were injured inthe stampede. S
200 'Shan"tami’ and [ - discussed about ~ the matter: vesterdav S

B i YT ey

e j-'_.'_‘__.(A)ﬁnra' (B)mm (C)nma'r (D)fa'—cm'

"""-'_'22._-._"-'52011e’rﬁa—mmm haarmm’rzr Eaa il
L _-”_".'-_:'(A)aza'mre?@r% wfadt et 3749, stsomm faamf:-rws
(B FE T S o RS HEre 43 51, wreret wiew 550 299 fdt, T nmurg 893

(O FE R ey AR T 3749, wrret wesT 535 299 fot, feT s 893
(D) FE IS T % it w3740, TS WEST 535 = fadl, f&?ﬂ"ﬂ'&ﬂ?BSl

f 23 ;_'_3wmwm€fmaﬂ?w faa%*?? gz e

o A)yTeREE . @) FEaEter (C))-I"‘G’E"’FT (D)awe’rns”rw
240 _-.ngwfevfaaumwaﬁ ﬁz?gre'rmaa Sl
L '
- '- 2: WE?’ :_"lb e
5 sB e a’za'ne’r(m?)
(A) 1a 2b 3c 4d (B) 1b 2a 3¢ 4d (C) 1b 7c 3d 4a __ (D) lb 7a ad 4

25 ’FIE’ m fEH Ff?S‘ 1987 E’u" wua’r g HchS’T S & di O(id‘ meF' H’T @Fr =
'_'-'_'-.'ﬁ.'-ﬁﬁ(A)Fraﬂﬂ?rfﬂwW (B)Wﬁﬁw
L OwaEfuEes (D)ea*a*a*rfr‘?rur

S 26 wESTERISIS e*mﬁa?zr

L @WET s BT (C)W@’r s
Co7e Emar F:fa-aamz '3 EB‘TETFI?-I ﬁeavrm’r fear FIH'SB‘ @Iﬁm a’rg 51 amraeT
o Gusa@ S il
(A)E‘Fawe'r?m (B)BWWFE"‘H‘&I‘J

- (C) frsasiE (D)fETfﬁ'€‘5'9°f€ﬁ“?>?‘°rEr

S e 28 ‘Indaa Wms Freedom ﬁm E’T H?—ﬁ'eﬁ %r

| : ::"2"9';[_'__- W 33V T Hae f?mr U‘fE‘ﬂ-l‘" H"’r

(A vfeTmeEE (B)g'fa'g (C)Fl'é')-l?ﬁ (D)mm?ﬂw

':“_:'_'_-:'30'."; _____,_fjﬁawzrwfmmw Wara S

S (A) uferfeR- ﬁefam ' (B)F(‘&'W ﬁs&mm SR
o Oy (D)fe?ffh?a*e‘rérmvj S
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41.

43.

44.

:'-:(A)HH'S'(EHHBTE) (B)d'd‘LfE'(Hd'd‘HCd)

. "(C)ara(mfﬁea’ (D)W(H?FETHE‘G’)
ﬁ"'(A)W”SF” (B)W 1955 (C)W 1951 . (D)wm?m' 1955 e
-'-_-_(A)eﬁ? (B)fmsr (C)Ba'm:r (D)mm
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 (O)nEEATE (D)fenhvfsmmreawﬁqaam’rw@? o
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_._'(A)aawrfnsaea? (B)HHE‘HEEFF (C)ﬁm; a*ssﬂwsea”r (D)m~waza°r
- (B)ﬁF@Z?TE’a'IB?EFET-TmuH?HﬁH'd \:léb'eTB' R

(C)%@Z?;E’HB‘TEU&!EWWWU

- O)SuTEE feg s Saty S
'-}.-esf‘sartrraeamwxme@wwmama R e T
O A)FY B)EEE o (OFT(A)MIB) (D)@uaaafevae’ra’rsa’l'zr[;; S
.._@Hew'muﬁfequ qae'Uﬁeﬁmr%ewma*ﬁa‘azfmaaafana[jf
" (A)?famreaﬁmﬂam@w (B)Efé@weaﬁ-wwmm
| (C)efﬁweaﬁmem@@w (D)eﬁ?rrrea’ﬁmrrawfeawfgw
W@WWLEDW?MWU - R
- {A) Light-emitting diode - = -~ o -(B): Low- emlttlno dlode I
- (C) Limit-emitting diode - 0 (D) Laser-ermttmc d10de T T SR,

__Hzaazaﬁwﬁe'qfaaéﬁfﬂs@r%a?aﬂs’rma

(&) TEISES e iy | (B)are’iﬁ:awrﬁqs S
'(C)mf%@ﬁa»rfﬂs . k (D)@lmaahqae?%ma
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-_.mmmmﬁmﬁﬁ@a
AR ST Tes s S
___-_'-_(B)ﬂ?%ﬁew%wcr ?ﬁ%ﬁﬁ%ﬁammmm
"3".-':_(C)€"7'="(A)”’f3 (B) S

g e g S
'-”___-?-'(A)egzm O (T (D)@mmasrfaeraﬁ%’rm?ra |
- wrafa- m%ﬂsmmeﬁmaﬁﬁww e
(A %ﬁxxwmm “(B) %ﬂwamm
.--'.'.;(C)féﬁaxa?mm | @)@mmaﬁa’raﬁv
_.-_.'g--_-'_’"_'(A)@um@ww@uwﬁwmeaw;nma S
'_.'_'_';__’--_'-._:_.':(B)gra‘?;wﬁraaﬂ?ﬁ@tr SR o
R (O (A) M2 B) Lo
G '_;_(D)mearxwfa?aﬂwwa S
.'__'m@mmwm@ﬁmamwmwwamg

S 50

m%ﬂ@amaﬁeﬂwa@wm

B :.'UWEW'FEH'ETHH\:'CIH E‘T'ds E‘:B’r:edl il a‘l W(W}Kh‘ﬂ'?mﬁ?&'f‘-‘éﬁ

W (B)fs@w (C)W (D)mm R
4 w@mﬁam%ﬁskﬁ f%aahm'amrtr .
S U(A)1-2-3-4 (B)1-3-4-2 (C)4-3-2-1 (D)@uaagm o
e*zr—-uawﬁ 1%52' e‘rm' ﬁm?? e* m e’r uzns”r ’Ji W-UE’W f‘smf Hsra 1‘?@’
| '--'-”_'.5(A) m*mﬁé?@eﬁsafﬁ

= -:".'j"i-__(B) Trae-foast T fes

s

L © W*ﬁﬁ?hwmﬁ-wgd 3E ITE T STFEBETE‘H‘EEIEH
-".'-(D)@Umﬂ"? S Sl

S ff(A)%"‘GEE’rﬂ‘a'FHWETFGE i (B)WE‘S’HU‘:I&S E"‘h—ldis

- ©Ouismgessigs @)mw

~CRDI®™Yg& U T :
TAY Common rail dlrect fuel ; mJ ectmn

e * (B) Common retarding direct fuel 1nJect10n' S

S = (C) Common’restarting direct fuel injection

SiaRrs -~ (D) Commion rail direct fire injection -




56.

57.

58.
59. .

60.

o (A) Multlpomt fuei 1nject10n system (B) Multlpower fuel mjectlon system e
(O Multlpressure fuel injection system (D) Mu1t1p1ate fuel 1n}ect1on system
'ABS | mwmelmsmma’ua =

“(A) Anti-lock braking system (B) Anti- leak brakmg system G
(C) Anti-lift brakmo system (D) Antl iead bral<1n<Jr system SRR S

: (A)W | (B)E (C)€ e (D)nra SR
e @uqda ﬁﬁeﬂﬁem mwmxﬁﬂmwa @F§ KUEE]

"(A)am | (B) Qu-vgg - (C) m—m (D)awr

| -rarﬁr@'eefeeCPerewauzr - | o

(A Central Processmc Unit SR (B) Contlnuous Power Umt S
__(C) Continuously Piaymo Umt i (D) Central Playmg Umt :'-3'. SR R
'_-;'wmm(wmsz'a*)feemwﬂme@mm T
(A Bre T agmiy/ fui-ery e ﬁ‘-iﬂa-r (B) 0= AHT imﬂscs m'ﬁ‘a-r
_'_(C)mﬁr%srswfnﬂar (D)@ueasrrrra' L
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